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SN 2R
HE: AP WE(SIUBY/BY)
o9l 2Hel B DE Y B2 (cr9l: 22l
SN - GA(SH) - NRAY - BES O] a0 N E o HlRE2
Oz B=012 A3
Z & 31,800,000 31,800 36,400 24,600
== 9,500 10,500 1,000
2 22,300 25,900 23,600
SE2et M  2F=N =4 1,682,686 1,669,000 13,686
S 10,000 10,000 0
= 1,672,686 1,659,000 13,686
&& AHIQ) HISZE SH 976,686 990,000 N 13,314
= 10,000 10,000 0
= 966,686 980,000 N13,314
307 212t01 & 896,686 910,000 A13,314
= 10,000 10,000 0
i 886,686 900,000 A13,314
04 CIZFHAIAIE E & 896,686 910,000 A13,314
OllHIS] BHSHZ S #AH JHE]
Z & 896,685,2002 13| 896,686 910,000 AN13,314
= 10,000 10,000 0
= 886,686 900,000 A13,314
o= 0l ¥ oHSEOl AL 27,000 0 27,000
307 gIztol 27,000 0 27,000
04 QIZFHAIAIE E X 27,000 0 27,000
Ooc=0l & oS0l HA =& 27,000 0 27,000
— 50l SAF 5,000,000 % 17 4 5,000 0 5,000
—GHZ0l AL
6,000,000 104 2 6,000 0 6,000
—oH S0l A 4,000,000 #4H 2 16,000 0 16,000
22X 2el(2stey/2) 2,129,915 1,981,357 148,558
22X 2el2dg 1,207,064 1,058,506 148,558
=z2Ex el L 2Y(22y) 414,261 265,703 148,558
101 Q14| 414,261 265,703 148,558
M IIZtHI2E2sSEx 414,261 265,703 148,558
O=TBBX(HEHNL, HSUHUKIBR)
Zte| el 371,3% 222,837 148,558
=Jl2g ZH 78,8303 2602« 10H 205,088 123,053 82,035
—Fg4g A 78,802 x535+ 10 41,807 25,084 16,723
—gua9sg
ZE 115,440 682+ 10H 78,500 47,100 31,400
—NEIRER
Z & 300,000 1242+ 10H 36,000 21,600 14,400
—&0= Z & 500,000& 23]+ 10 10,000 6,000 4,000
BT L 2R NL(SsA /2 11,549,254 11,609,254 150,000
= 704,000 704,000 0
= 3,647,600 3,647,600 0
i 7,197,654 7,347,654 A 150,000
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Gl 2RI HE At (SH9 H2)
SN - B - S2A(BH) - HRAY - BES 0 &y ol B o HIRS
R O At 2,188,000 2,338,000 A 150,000

= 325,000 325,000 0
< 99,900 99,900 0
= 1,763,100 1,913,100 A 150,000
e 2t X N AL (KHAN) 1,530,000 1,680,000 A 150,000
401 Al&BIL S THYI 1,530,000 1,680,000 A 150,000
01 AlEZHI 1,530,000 1,680,000 A 150,000
OZtE T2 NLAY BHAUEX B4 (22 Y
SX7, MR 35 0 0 1,200,000 1,200,000
OZE T2 NLAY BHAUER 24 (2 Y
SXR, MgEx, 3ls )
1,000,000,000& 1,000,000 0 1,000,000
O=d2Z X HRU AL &AL
= 50,000,000& 50,000 0 50,000
22T 2E 2l (2ot /2d) 1,215,200 399,000 816,200
= 800,000 0 800,000
< 69,600 69,600 0
i 345,600 329,400 16,200
SZFBOIANLEE L OHEAS 1,183,200 367,000 816,200
s 800,000 0 800,000
(= 60,000 60,000 0
s 323,200 307,000 16,200
2 & 2T Ald= mAl2el 166,200 150,000 16,200
201 Ler23 | 114,200 98,000 16,200
2 S5=24g4l 40,700 24,500 16,200
OJIEt 22X 128 &IIMNE=
2 1,850,000 12002 22,200 6,000 16,200
22X o 2L ANEE fX2el(EX) 800,000 0 800,000
= 800,000 0 800,000
401 Al&BIL STy 800,000 0 800,000
= 800,000 0 800,000
01 Al&ZHI 800,000 0 800,000
O=22ZX HaRUH FHIAG (24 T
£1) 800,000,000 800,000 0 800,000
£ 800,000 0 800,000
M=z 2F o A FE(SSt 22 /22) 175,800 206,327 £30,527
= 4,000 4,000 0
< 32,900 41,600 28,700
i 121,400 160,727 N39,327
= 17,500 0 17,500
== 2g2c 175,800 206,327 ~30,527
= 4,000 4,000 0
[ 32,900 41,600 28,700
= 121,400 160,727 n39,327
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SN - B SRABH) - HPAY - BES 0l &y |l 8 o tmE==T
= 17,500 0 17,500
==& A 28 & 22 47,300 71,427 N24,127
101 QIAHI 0 24,127 N4 127
M IRNZZ2NSE S 0 24,127 N24,127
Odi+==& &4l JI2ZtMZ22 Xt 0 24,127 N24,127
— QI 38 0 0 20,608 ~20,608
—B8E S 35 0 0 3,519 23,519
M=% 45t X (EEIA ALY 8,000 8,000 0
= 4,000 4,000 0
[ 2,000 0 2,000
= 2,000 4,000 22,000
201 er23| 8,000 8,000 0
= 4,000 4,000 0
& 2,000 0 2,000
= 2,000 4,000 A2,000
01 At22t2lt] 8,000 8,000 0
Odil ==& XA A
Z& 8,000,000 1002 8,000 8,000 0
= 4,000 4,000 0
< 2,000 0 2,000
= 2,000 4,000 22,000
SHe==2E =B ZA X2 AY 10,000 10,900 2900
< 3,000 3,200 2200
= 7,000 7,700 2700
201 Ler23| 10,000 10,900 2900
< 3,000 3,200 ~200
= 7,000 7,700 AT700
01 AtR2t2l] 10,000 10,900 2900
Odfl==& E & =Z A
ZE 2,500,000 #4002~ 10,000 10,900 2900
< 3,000 3,200 2200
= 7,000 7,700 AT700
==& At EH 7Y X AIEXZEAY 30,000 36,000 26,000
< 9,000 14,400 15,400
= 21,000 21,600 2600
201 er23| 30,000 36,000 26,000
< 9,000 14,400 25,400
z 21,000 21,600 2600
01 AtR2tel] 30,000 36,000 26,000
Oofi==% &Il 7Y & AIEZEA
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= 17,500 0 17,500
M ORNZZ2NSE s 80,500 80,000 500
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= 6,984 3,584 3,400
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< 3,012 5,568 12,556
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= 220,675 220,675 0
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401 AlZBIL S THYI 250,000 0 250,000
[ 250,000 0 250,000
01 Al&HI 250,000 0 250,000
OEESSANHel ZEMY
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< 250,000 0 250,000
A2 ZH(2Z ) (O1EHIIEH 145,741 137,776 7,965
=&l 77,154 69,189 7,965
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A AZYRAZH(22) (OIEHIIE)
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SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
Jl23t(2&F M) 17,103 14,436 2,667

202 Ot 11,823 9,1% 2,667
01 =LHoi 11,823 9,156 2,667
O3 HY R =4 22 20|
Z& 110,000 7 +3L x52| «50% 5,775 4,620 1,155
OZZHRYR =& 2 EH08I
Zd 20,0003 *7E*9L + 1270 2 »40f% 6,048 4,536 1,512
2 (22 E) 10,368 7,068 3,300
202 04t 7,872 4,572 3,300
01 =LHoi 7,872 4,572 3,300
OZZNLHSR =& 22| EH0HI
Z& 110,000 x4 52 +62| *40% 5,280 1,980 3,300
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202 Ot 6,570 4,572 1,998
01 2oL 6,570 4,572 1,998
O FRFa 2L SF0H|
dd 20,0002 *3E * 10+ 1270 2 +50f% 3,600 2,592 1,008
O%d JRF8 22| SO
Z&E 110,000 x3H +3 +62| *50% 2,970 1,980 990
WeRes(22) (LeS3HE/HE - S 8) 51,592 33,477 18,115
FSPNES 51,592 33,477 18,115
SFSONE 33,142 21,507 11,635
802 gtet=JIEt 33,142 21,507 11,635
01 2DEXIPEZ 11,081 1,123 9,958
O'234 O2lolsAHe XAME 48X - 29
TSAH Q| Xt BHEH2
3F 742,620 743 7 736
O 20d~228 22X A=A HAXISH
il Biats 9,221,190 9,222 0 9,222
02 Al - SHIEZ=ZBHEZ 22,061 20,384 1,677
O'233 oglolsAlZe|XAMELER - 2
TIHEIH Q| Xt BHEHE
23 148,520& 149 2 147
O34 RUAFI| X XNFAY ZHEH
grets 240,000 240 0 240
O'23d RAFI| X NFAY HAEH
Okt gH&t3 9,340 10 0 10
O21d g ZS0IRX2l AtY ZHEH Bt
&= 225,000 225 0 225
O'23d S4E LAHOIZ ¥ BAMZE & X
PIAIY ZEHAIOH BHEE 240,000 240 0 240
O'23d S4E LAHOIE ¥ A2 EX X
ALY HEEH Ok} Brata
4,520 5 0 5
O'233 detds HESH XIZAY Sz
o OIXt EHEt= 48,910 49 0 49




2A:
PSER
o e

el

=t
HRas (22 (LSIBE/NE - 38)
SPSONES

SN - BE - SRA(SIH) - NIRAY - BES 0 &t ol & o HlRE2
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